
3. týždeň semestra 

 

DÚ 1: Ukážte, že pre 𝑛 ∈ ℕ platí nasledujúci rekurentný vzťah: 

𝐼𝑛 = ∫(1 − 𝑥2)𝑛 𝑑𝑥 = (
2𝑛

2𝑛 + 1
) 𝐼𝑛−1 +

𝑥(1 − 𝑥2)𝑛

2𝑛 + 1
, 

kde 𝐼0 = ∫(1 − 𝑥2)0 𝑑𝑥 = ∫ 1 𝑑𝑥 = 𝑥. 

 

Riešenie: 

Pre 𝑛 ∈ ℕ máme: 

𝐼𝑛 = ∫(1 − 𝑥2)𝑛 𝑑𝑥 = ∫(1 − 𝑥2)𝑛−1(1 − 𝑥2) 𝑑𝑥 = ∫(1 − 𝑥2)𝑛−1 𝑑𝑥 − ∫ 𝑥2(1 − 𝑥2)𝑛−1 𝑑𝑥

= 𝐼𝑛−1 − ∫ 𝑥(𝑥(1 − 𝑥2)𝑛−1) 𝑑𝑥 = |
𝑓(𝑥) = 𝑥 𝑔′(𝑥) = 𝑥(1 − 𝑥2)𝑛−1

𝑓′(𝑥) = 1 𝑔(𝑥) = −
1

2𝑛
(1 − 𝑥2)𝑛

|

= 𝐼𝑛−1 +
𝑥(1 − 𝑥2)𝑛

2𝑛
−

1

2𝑛
∫(1 − 𝑥2)𝑛 𝑑𝑥 = 𝐼𝑛−1 +

𝑥(1 − 𝑥2)𝑛

2𝑛
−

1

2𝑛
𝐼𝑛,            (1) 

kde sme pri výpočte 𝑔(𝑥) využili, že: 

∫ 𝑥(1 − 𝑥2)𝑛−1 𝑑𝑥 = −
1

2
∫(−2𝑥)(1 − 𝑥2)𝑛−1 𝑑𝑥 = | 𝑠 = 1 − 𝑥2

𝑑𝑠 = −2𝑥 𝑑𝑥
| = −

1

2
∫ 𝑠𝑛−1 𝑑𝑠 = −

1

2𝑛
𝑠𝑛

= −
1

2𝑛
(1 − 𝑥2)𝑛 

Z (1) dostaneme: 

𝐼𝑛 = 𝐼𝑛−1 +
𝑥(1 − 𝑥2)𝑛

2𝑛
−

1

2𝑛
𝐼𝑛 

(1 +
1

2𝑛
) 𝐼𝑛 = 𝐼𝑛−1 +

𝑥(1 − 𝑥2)𝑛

2𝑛
 

(
2𝑛 + 1

2𝑛
) 𝐼𝑛 = 𝐼𝑛−1 +

𝑥(1 − 𝑥2)𝑛

2𝑛
 

𝐼𝑛 = (
2𝑛

2𝑛 + 1
) 𝐼𝑛−1 +

𝑥(1 − 𝑥2)𝑛

2𝑛 + 1
 



3. týždeň semestra 

 

DÚ 2: Vypočítajte: 

∫
ln((2𝑥 − 3)2)

(1 −
3

2𝑥)
 𝑑𝑥

3

2

 

 

Riešenie: 

∫
ln((2𝑥 − 3)2)

(1 −
3

2𝑥)
 𝑑𝑥

3

2

= ∫
4𝑥 ln(2𝑥 − 3)

(2𝑥 − 3)
 𝑑𝑥

3

2

= |
𝑡 = ln(2𝑥 − 3) 𝑥 = 3 → 𝑡 = ln 3 2𝑥 − 3 = 𝑒𝑡

𝑑𝑡 =
2

2𝑥 − 3
𝑑𝑥 𝑥 = 2 → 𝑡 = 0 2𝑥 = 𝑒𝑡 + 3

|

= ∫ 𝑡(𝑒𝑡 + 3) 𝑑𝑡
ln 3

0

= |
𝑓(𝑡) = 𝑡 𝑔′(𝑡) = 𝑒𝑡 + 3

𝑓′(𝑡) = 1 𝑔(𝑡) = 𝑒𝑡 + 3𝑡
| = [𝑡(𝑒𝑡 + 3𝑡)]0

ln 3 − ∫ 𝑒𝑡 + 3𝑡 𝑑𝑡
ln 3

0

= 3 ln 3 + 3 ln2 3 − [𝑒𝑡 +
3

2
𝑡2]

0

ln 3

= 3 ln 3 + 3 ln2 3 − 3 −
3

2
ln2 3 + 1

=
3

2
ln2 3 + 3 ln 3 − 2 


